Lecture 12
Friday, June 7, 2019

INE= <My | LIM) s indiite

Last Fwne - A wn £ TNF
a4 = &xec . Prove
—_— {/————— s © ‘-tl\’“"""(

Aty < INF VAL Ars,s(—>
HQ\AU-) TNE  is wot scwa}-aleo}v(qu AsE .
(civa ’P:‘-M is vt semi—a‘eo{”(QUQ)_

Now vJ°m+ 4o show I/\/P S m‘(’ ScM',—O(-CC,.
3—(— SWM\UJS"‘O S\Aevu

Ar., S INF
Wouwd o ceduchon .ﬂ: Z*_p, Z*
st ¥ (M w) i l(<M)w>)_—(M'>
O M ot oot w D (M) 15 ndiite
(2) M acaps W > [,(M') s dhike

O\‘H'Q,W\PJ‘ "H . I d OV\ trq‘(' x
Qavv»\AQO\'{TQ M on w.
M M qcafn‘s R -("mm fe\\ed—
M M *'eqfd’s w, My qu,/. 0



QHQM\JH #2

M'-— "Ov\ IV\(J\A X)
S]mqu+Q M onw W ~L( x| S"’ers o\JJ_
MM o\(uf-"w( w witu,  IX| S“'efs)
fhen  Tepeck, Ofewise, acapt.

Ce«acjrmgs owmQ\,,s)s:
(\) M Ohos net ac W = /V\\ a(
off W D M e

Vet X

L)% .

(V) M acapy W =
M qcu.fl—') woowdin 1 3“%3
> ¥ x, Xzt MK rﬁwﬁ
( v ox, Kkl<t m!IY) mcu?+3.
bt acopd s s e )
S L(m) e 0
o Re cursion —‘\‘\Qo\'QW\

Snfocmally | can conskudt TALs

( )
Mot ace awae oé e owvy Soura cm‘{,

(BY -&Xﬁ‘”\fb, Covy Cov\Sku(A' a TM S
st

&S
X_. TA S >;

/‘
TS ot




T. Aj\ D ou\-('fv\'k

W oown oA{SCﬁ[J'HW\ 4 3>

(\nv\s‘l‘fuv"\ow 04, 0 &u«\oﬂn'é?a TM S

X
\
<8 90 46 X
A +— B
ap(csv) <B>
\
<Ps>§ B2
3 <>

! OV\ I""’V\ﬁ‘ )() )
WA ().
00:1':* 62/?/()(), X .

Lowma u’h (X\
a X \

A n(u\:, I"



Ov\w ?@\\)K !
e
a = ,/4 Q/\\v\-e D ’
2 taice o ,WQU Mq 9~—2m’ €
tu/\& Z

v c,o'Mval‘\LLg 4 2« 2 —-’92
4 ™ R
" £ (¢f> W }
W R >
K Irﬁ“’&j )
<R>
(\ COMT‘JQ -6




